INEAR

BFZ4x100mR

R 148
B F—Ls ton- K&1 tun- K&2 +tun- K&3 ton- KL4 A0 8%
1 —/= 2587 k% EE5-6 2580 iEH FE{E-5 2584 KH #m=E-5 2588 #IL BE-6 1.00.52
2 ASSA-TC B 923 FMEA F-6 920 FHE 5#=E-6 931 &#£28 #E-5 934 G EH-5 1.00.86
3 #AEEAC 729 #80 1EH-6 724 Fw #6727 M IhE-6 723 Fl HE-S 1.01.64
4 ERLL 2550 FAE E-6 2555 H#FT #K-6 2552 #ik  iE-6 2553 MAFH -6 1.01.75
5 =l 5022 2% B/r-6 5024 74 7ube—-5 5023 higk #th-5 5021 £&H BEH-6 1.03.59
6 ASSA-TC C 935 XJIl BE-5 936 1Mk EIR-5 930 &£k E3F-5 929 EBE BN-5 1.03.88
R 248
Bz F—Ls Fon- K&1 ton- K&H2 Fton- K&E3 Fon- K&4 E0E%
1 —iEBeast A 1030 &0 3¥5-6 1027 EA #th-6 1031 =@ %—-6 1033 LA f£t-6 .56.51
2 REEIRC 679 HHE —iE-6 676 1FE /#6697 & —J/\-6 677 )it i&th-6 57.38
3 fEkELJr A 497 &K 5%xK-5 495 £k k-5 482 FREF E£ih-6 484 luO #H{F-6 .58.02
4 ASSA-TC A 925 =% XIE-6 922 FAEP [E-6 927 BHi kZMN5 926 KB [E-6 .58.49
5 —i5Beast B 1039 Lk =#-5 1026 fhH #F-6 1034 UE #HRE-6 1028 K% Z£3R-6 1.01.50
6 JACEIL 1106 &8 Z#E-6 1107 F%K E-6 1109 &RHE FEsr-6 2610 BLLEAER-6 1.02.37
R k&
B F—Ls Fon- K&1 tun- K&£2 Fon- KE3 tun- Kf4 %
1 —iEBeast A 1030 &0 %3¥5-6 1027 EA #th-6 1031 =@ %—-6 1033 LA f£t-6 .56.51
2 REEMRC 679 FEHE —iE-6 676 1FE 86 697 & —/\-6 677 )it i&Eth-6 57.38
3 fEkELJr A 497 &K 5%ZK-5 495 £k k-5 482 FREF =16 484 luO #H{F-6 .58.02
4 ASSA-TC A 0925 =% XIE-6 922 FAEP [E-6 927 BHi kZN5 926 KB [E-6 .58.49
5 —)= 2587 ik EE5-6 2580 A #iE-5 2584 KH #R=E-5 2588 &1l Bi#H-6 1.00.52
6 ASSA-TC B 923 FMEA F-6 920 MHA #=F-6 931 #28 #HE-5 934 G\ EH-5 1.00.86
7 —iEBeast B 1039 Lk =#-5 1026 fkHE #F-6 1034 LUE #HE-6 1028 K% Z£3iR-6 1.01.50
8 fEEAC 729 $80 1E#H-6 724 Fw RE-6 727 M ThE-6 723 Fl HE-S 1.01.64



